AFLRE A E (A R &S

U)&Urxxd‘.

20214 2H10H
B Ao g e B AR U

LN oo AR | EIEES

T & 4 : PC K%

REEREZ O T4 (2020-2—h - PE'E)

fIAHEH: 20214 2H 3H
[ % H: 20214 2H10H
= f =] &
CRREFE 10 HE NRE-3 HALWMSR B | 1. @TY, 8 Im THELTWIERZHET S
fE) HLDLLTLEEY, D7, ¥k 2.0m & FH

A TR E SN TW D TER TR AT ) D%
& 2. 0miE, O8N 1 ARITxE U AR/ EHR A
& (2nllb) ot BaEEiisste
H), @QFNLUANADOESL LN THORFEAW E
T, FQOBEIE. A L TmEE 2
HORFEWNE T,

. XFERE 36 B ERE-28
M)
REFTE ES TS TEkp kR As | %%
& 2.0mi%, OF 1 RISk Uil 2
B (2mBl k) OFE GREEBIIREIE
H), @QFNLUANDOESL LN THORFEAW E
T, FEQOHEAEIE. A% L TmEfEE 2
HORFEWE T,

FHA T (ASR &4

uX B

. LEHEHENRE-6, 7
THENRES O FE, bLIFTHEE
NRE-T O LBIC, L@ (LT
EROEEY) BDRELEbUET,

- SRR E O MU IE
EASt

AR O T, THifHe (DID 4

E) (1) -1 BERETHE) 01.4LE2
TEWHTHRBENET,

. BUGE AR o Mg A 1
BUGE B O Mgl Bk, [Tt (DID 4
E) (1) -1 BREETE ©01.2L35%
TEOWNTHBRBEWVE T,

CER 2 AR T
ATHE, OBk 2 AR THETRY,
K2 ARMRTHEDOESL 50

@i
SHURBECE T

LTV HD, HETRIETDHE 2.0m2 12720 F
—g_ﬂo

2. @TT, 18 Im T ELTWAREZF/ET 5 L
DELTLIEEY, 200, HE2. 0n ERBLT
WOHHLOX, mETERT DL 2.0m212720 £,

3. MIEHFH 3 TR OMLEIGRE OFLHIZ OV T,
MONDHYELZOT, TEHENRE-T 2D L
BOELEXET,

4. ZTHEoOLBY T, b, FrofbEE 2-1 5
oL B FAEFHEICHEMIEEZ S 2 TWET,

5. ZHMoOLEY T, ok, FraofhekE 2-1 5
o LBy SAERIHE B ELZ E X TWET,

6. AMLHAES. (6) ICEHD EBY  #HIk2 B
W (ZEEHLESX) ZEALTCOVET, Lo,
THEAFHEE IS - > THEIFIT> T ER A,




7. BUGREIGEE
I%V‘Jnﬁi BT 5 s R ER
() 12k, & $ﬁ%btﬁ%ﬁﬁﬁié
7b§®$ﬁ‘§bt/\Lf}im, WE ST
L. @MELTWARY OEL I HoRRE
WET,

8. FHAFEVEAMAS R E R

AR LFOPFELEMME T, [ EAR CHEER
BILME 20204E 7 A L H  BphEEGE B AS
fh) o511 (Zie#omy THRERICTHEHEL
SHIEDY9.2/10 2 25613 9.2/10 & L,
7.5/10 I 7= 72 WAL 7.5/10 L 95, ) ICHE
FTHHLOLEZ TN THREWE T,

oLk

7. RTEIIHB RS

8. W%m SRR AL UESS 1 W5 b O
EIZEHHEDO LBV T,

WEHRICOW TGS & E 2

MU
W

HEAT#S

IV




Gollio

THEEMaGRE T THEERARE T
| {liikicg o ‘ THES| T W | T ] | Wi ‘ " 2 B fif & MW W = | | i e HB R | ITHERs| LA | i Al | B fir | T & | Wi & W i =

i {REH =N 1 HBEREAE =M 1
Brilr e M 1 ] 38 Stig{Ra # F 1

HEREAY (F M 1 ity B F 1 [ 38
HIBEHE = 1 HiEREYH (K E=N 1
—MERET = 1 AR Exe 1
PEAREYE T 1 | 39 —EERE = 1

RS Y z 1 EAREL G = 1 ] 39
i B R =N 1

TH Beo#h @ B MRS TH B #hom o E M B2 H




